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Chapter 7 Test Prep/Practice

Multiple Choice
Identify the choice that best completes the statement or answers the question. Please excuse the format. I didn’t want this
to be on 10 pages for one HW assignment.

1. There are 84 boys in a freshman class of 146 Identify the similar triangles. Find x.
students. Find the ratio of boys to girls.
a. 42:73 b. 31:42 c. 42:31 d. 73:42

Solve the proportion. D

3 10 7 17
2 pLA £ - x—35
¢ =15 b. = B = d. .

Determine whether each pair of triangles is
similar. Justify your answer.

3. B

F
E
a. yes; AEDF ~ ABCA by AA Similarity b. yes;
AEDF ~ AABC by AA Similarity c. yes; B
AEDF ~ ABCA by ASA Similarity d. No; there is
not enough information to determine similarity.

4, If ABCD ~ EFGH, find x. a. ADEF ~ABAC;x=15 b. ADEF ~ ABAC,
x=20 c. ADEF ~AABC;x=15
d. ADEF ~ AABC; x =20

a
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a. 1875 b. 20 c. 22.75 d. 28
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Find x and the measures of the indicated parts.

6. ABand AC
E 12 A
X+2
B
x—4
C 4 D

x=7,AB=12,4C=9
x=7,AB=9,AC=12
x=-5,4AB=-3,AC=-9
x=-5AB=-9,AC=-3
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a. x=845=8 b. x=2,45=2
c. x=12.5,45=125 d. x=8,45=10

ID: A

Determine the scale factor for each dilation.
Determine whether the dilation is an enlargement,
reduction, or congruence transformation.

a. 2;enlargement b. 2; reduction c. %;

1 §
enlargement d. 7; reduction
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a. 4;enlargement b. 4;reduction c. %;

1 .
enlargement d. 7; reduction
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10. Quadrilateral ABCD ~ quadrilateral EFGH. Find x.

ID: A

Refer to the figure below.

a 15 b. 20 ¢ 25 d. 30 11. Identify the similar triangles.
a. ALMN~AMPQ b. ALMN ~ AQMP
c. ALMN~AQPM d. ALMN ~ APOM
12. Find LM.
a. 16 b. 17 c. 18 d. 20
Short Answer
Determine whether each pair of triangles is 16. When a 5-foot vertical pole casts a 3-foot, 4-inch
similar. Justify your answer. shadow, an oak tree casts a 20-foot shadow. Find
the height of the tree.
13. y
X
U v w
_ . 17. The ratio of the measures of the three sides of a
14. Determine whether A4BC ~ ADEF. Justify your triangle is 3:4:6. If the perimeter is 91, find the
answer. measure of the longest side.
B F 18. Find y so that MN || BC.
15 15
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15. Find CD. yM
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18R N &
19. Find CG. (it will be good practice to find EG and
AE too!!!)
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20.

21.

22

23.

24,

25.

Determine whether quadrilateral ABCD ~
quadrilateral EFGH. Justify your answer.

o
9 £ 13.5 ‘
5 12 3
9 8.5
7 D
AT, H 7 G
If AJKL ~ APQR, find x.
K, 6
aP
X 14
J % L R

AABC ~ APQOR, AB=18, BC =20, AC =22, and
OR =25. Find the perimeter of APQOR.

In AABC, AB =10, BC = 16,
DE | AC, and DE = 6. Find CD.

If ARST ~ AUVW, find mZLW.
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ID: A

26. Find the area of the image, in square units, if the
re-image shown below is then dilates by a SF of 2.
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27. These are the answers from the book test generator.

I did not verify the solutions.
Chapter 7 Test Prep/Practice  ~
Answer Section

MULTIPLE CHOICE
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SHORT ANSWER

13. yes; AUYT ~ AVXT by AA Similarity
Txwo polygons are similar if and only if
their corresponding angles are congruent
and the measures of their corresponding SLR=.

14. Yes; AA sim

15. 63

16. 30ft

17. 42

18. 3

19. 84

20. No; the corresponding /s are not congruent

21, 5

22. 75

23. 96

24. 32

25. 47

26. A=1/2bh b=AB= 1Sunits
h=DC= 13 units
The are doubled by the SF
A=1/2 BHB=30H=26
A= 390 Square units



